Efficiency vs P,

~ 0.2

p

2 .agf e — —
NORT: SRR N — T
RO SO N SR S
o = : : :
0.12F
e R e e
0.08F
0.0Bf g reoreeieeeeeeees e SRR
0.04F - --mengerieeeeneens Feeeeeeeeen e
r - : :
0.02f--rer-Breereeeeees Freseeeeeees e

cy

cle

................................................

107t 1 10 11sz (Ge\}P3

11111

'C!ﬂ%ég sratrector—to00evt
ﬁs %%igﬁ 1RO TLIERS 1000evt
= 0.2

e e
§o.16'— ------ Feeenees e P RS B
9 : :
50.14
k5
0.12
0.1
0.08F
0.06fF-
0.04
0.02
E

-1 |=2=eroc

TTTTT]
N

h

.

4

——

- H
- N
et
feee
e
e !
.
-—

N

—e

IIIIIIIII+!II[II

C gt
N —
- B

.

=3

S
—

Ratio

=
s




	Contents
	Page 1


